Please solve each problem step by step giving solutions please.  SHOW every equation used and every step getting to the answer.  Show substitutions, etc.  Please give units.    Look below for pages.  Adult student learning from ya’ll and so you can read what I need help with I cut and paste the questions cause some cannot read my writing.

Thanks!

[image: image1.jpg]001 (part 1 of 1) 10 points
An elevator starts from rest with a constant
upward acceleration and moves 1 m in the first
1.5 s. A passenger in the elevator is holding a
7.5 kg bundle at the end of a vertical cord.
The acceleration of gravity is 9.8 m 1 i
What is the tension in the cord as the ele-
vator accelerates? Answer in units of N.

002 (part 1 of 1) 10 points
When an object is moving in the air, the
air drag force is in the opposite direction to
the velocity. Consider a light foam ball that
is thrown up into the air.
When is the net force on the ball greatest?

1. When the ball moves up
2. When the ball moves down

3. When the ball is at the top of its trajec-
tory

4. The net force is constant.

003 (part 1 of 1) 10 points
A person weighing 0.7 kN rides in an elevator
that has a downward acceleration of 1.4 m/s?.
The acceleration of gravity is 9.8 m/s?.
What is the magnitude of the force of the
elevator floor on the person? Answer in units
of kN.

004 (part 1 of 1) 10 points
A(n) 475 kg bear grasping a vertical tree slides
down at constant velocity.
The acceleration of gravity is 10 m/s?.

What is the friction force that acts on the
bear? (g =10 m/s?) Answer in units of N.

005 (part 1 of 1) 10 points

The acceleration of gravity is 10 m/s?.
What is the greatest acceleration a runner
can muster if the friction between her shoes

and the pavement is 68% her weight? Answer
in units of m/s?.




[image: image2.png]008 (part 3 of 4) 0 points
c) What is the magnitude of the average force
exerted on the body by the arms during the
third time interval? Answer in units of N.

009 (part 4 of 4) 10 points
d) What is the magnitude of the average force
exerted on the body by the arms during the
last time interval? Answer in units of N.

010 (part 1 of 1) 10 points
A(n) 1.56 kg book in space has a weight of
5.45 N.
What is the value of gravitational field at
that location? Answer in units of N/kg.

011 (part 1 of 1) 10 points

When you drop a 0.43 kg apple, Earth exerts
a force on it that accelerates it at 9.8 m/s? to-
ward the earth’s surface. According to New-
ton’s third law, the apple must exert an equal
but opposite force on Earth.

The acceleration of gravity is 9.8 m/ s2.

If the mass of the earth 5.98 x 10%* kg, what
is the magnitude of the earth’s acceleration
toward the apple? Answer in units of m/ s2.

012 (part 1 of 1) 10 points
A thin flexible gold chain of uniform linear
density has a mass of 32 g. It hangs between
two 10 cm high vertical walls (vertical axes)
which are a distance of 10 cm apart horizon-
tally (z-axis), as shown in the figure below.
The acceleration of gravity is 9.8 m/s.

006 (part 1 of 4) 0 points
The figure below shows a plot of the speed of
a person’s body during a chin-up versus time.

t
0.00s
0.50 s
1.00 s
1.50s
2.00s

v
0.000 m/s
0.145 m/s
0.290 m/s
0.231 m/s
0.000 m/s

All motion is vertical and the mass of the
person (excluding the arms) is 67.1 kg.
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Figure: The line through the
points is only to guide the eye.

a) What is the magnitude of the average
force exerted on the body by the arms during
the first time interval? Answer in units of N.

007 (part 2 of 4) 10 points
b) What is the magnitude of the average force
exerted on the body by the arms during the
second time interval? Answer in units of N.





